THMSEE 12AEMMEFRICONT

—BRRETFEDMILE 3,036,766 FH
(HEERDFEEE 171,568,330 FH)
<mEHDHIERE>
m ' & 1,422 FH
23R # % & 58,057 FH
3 K & = 2,830,049 FH
47 B £ R & B 24,050 FH
5% F e = 74 FH
6 B W % E 21,896 FH
7R B I # x & 5,349 FH
8% =k ¥ N = 23,958 FH
ok H Bh =1 45,300 FH
10:8 & " = 26,611 FH
< ADIHIEEE>
143X B E X H &£ 2,783,380 F+H
155 B X H # 15,612 FH
195K ## A &= 237,774 FH




SHSEE 2ABMEETEDHE 2

— — ik £ &t (B4 FF)
1 #HIEF HZ 3,036,766
2 WHERDFHEE 171,568,330
BIEEI12AWER 176,393,316
BIFEE XL 97.3%

SHEDODAR

(% )

[ pEEESEEOREFE(F1SRE) B |

(Rt BRER)
(1) FEFIEFHHFHRESEERIRRGE 2,747,422
Wi & i I C LA R A AR T 570, FRBUIERBL A (2335
KT SO SHENTE HfE
FERBIIERRB A 1420 75
%F42 ¢ 38, 00047
XHGBRAG A6 41 A TN

(i EIF 7 H R, BEEILR]
(2) B EREESENSRIEER 1,716
Py S AR A R D 22 R Y At — B A DR A SRS BT
S BT S DA i 55 D — A B T DR B 0D B
K4 HUBIE B 4 — 10/
PHETYS - BRI RO TR — & A FEFEATY 3 Hik
SRV M 73 5 A 5 8 4 ot e B
SR EAT 9 A /MR NS 3 T/RIAER

[(RE - 4 H#ER]
(3) REMHFMESEIRIIEER 34,242
Py 9 B RN IR B TS O M et — B AD R A SRS BT
e EAT S O i 53 00— A Bk 9 DR B 00 B
R ESTIRETIANRE, HNIRE O bSR3 ATMRE T4 ik
SRV M 73 5 A 5 8 4 et e B
b ORMEE 9 51/HER MR 3 TH/FIAER
@ 5 4RHE b IS TR X 1. 11
@, @D 35 by



[BEBURE]
(4) ZOCIHMEM MR ESBRENREE

BRSO BB A 2 T HED T PER DO i BT D0,

B g A I A D — A B a9 D1 D HEEE
IR D B HUB B AR w2 S B e SR ZE DOl Bh et R MR DAL R A S HEE
EINZ « A 1ke472 0 3. O AN TIRMBBNZED D
KW BS54 A~S 6443 H1H £ TO Y

CHPHBIRT SR 9 H30H)

Z0th )

(8% 8 3R)
(5) BB AHE
NFEBEEN S 2 IS KB R BUE BB B E D%

(% A)
(1) BEXHE
REBEEHGE
HEBELERDS
REGLABHS
ZAELREDS

(2) BXXHH&
ENEBERMGHME
REERNE

(3) Mg
B ENDDRBE

19,612

231,774

2,783,380

19,612

231,774



